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                                                         El volumen  

                               (pasar de una unidad a otra) 

Solución _________________________________________________________________________ 

 

 

 700  𝒄𝒎𝟑
   → 700 : 1.000.000 = 0´0007 𝒎𝟑

 

 0´004 𝑯𝒎𝟑
    → 0´004 x 1.000.000 = 40.000 𝒎𝟑

 

 81.540 𝒎𝒎𝟑
   → 81.540 : 1.000.000 = 0´081540 𝒅𝒎𝟑

 

 451 𝒅𝒎𝟑
   → 451 : 1.000.000 = 0´000541 𝑫𝒂𝒎𝟑

 

 3.486 𝑫𝒂𝒎𝟑
    → 3.486 : 1.000.000 = 0´003486 𝑲𝒎𝟑

  

 29 𝒄𝒎𝟑
     → 29 x 1.000 = 29.000 𝒎𝒎𝟑

 

 28.210 𝒄𝒎𝟑
   → 28.210 : 1.000.000 = 0´028210 𝒎𝟑

 

 47 𝒎𝟑
     → 47 x 1.000.000 = 47.000.000 𝒄𝒎𝟑

 

 6´1  𝑫𝒂𝒎𝟑
   → 6´1 x 1.000.000 = 6.100.000 𝒅𝒎𝟑

 

 8´742 𝑲𝒎𝟑
    → 8´742 x 1.000.000 = 8.742.000 𝑫𝒂𝒎𝟑

 

 0´000036 𝒄𝒎𝟑
  → 0´000036 x 1.000 = 0´036 𝒎𝒎𝟑

 

 573´41 𝑯𝒎𝟑
   → 573´41 : 1.000 = 0´57341 𝑲𝒎𝟑

 

 13´26 𝑯𝒎𝟑
    → 13´26 x 1.000.000.000 = 13.260.000.000 𝒅𝒎𝟑

  

 0´483 𝒎𝒎𝟑
   → 0´483 : 1.000 = 0´000483 𝒄𝒎𝟑

 

 60´71 𝒎𝟑
   → 60´71 x 1.000.000 = 60.710 𝒄𝒎𝟑

 

 0´000000741 𝑲𝒎𝟑
 → 0´000000741 x 1.000.000 = 0´741 𝑫𝒂𝒎𝟑

 

 395´1 𝒎𝟑
   → 395´1 : 1.000.000.000 = 0´0003951 𝑯𝒎𝟑

 

 62.451 𝒎𝒎𝟑
    → 62.451 : 1.000.000.000 = 0´000062451 𝒎𝟑

  

 346´891 𝒄𝒎𝟑
   → 346´891: 1.000.000 = 0´000346891 𝒎𝟑

 

 49´679 𝑯𝒎𝟑
   → 49´679 x 1.000 = 49.679 𝑫𝒂𝒎𝟑

 

 15´0036 𝒎𝟑
    → 15´0036 x 1.000 = 15.003´6 𝒅𝒎𝟑

 


